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LINGUISTICS
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Innateness refers to :

(A) relationship between competence and performance

B) the speaker’s knowledge of his native language

the philosphers’ explanation for acquisition and production of language

the view that the child is born with a biological predisposition to learn a language

Ethnolinguistics is :

(A) the study of the history of the words and culture

(B) the study of language from the point of view of users
(©

(D)

the study of language in relation to cultural behaviour

the study of language in relation to extra-linguistic rules of appropriateness

Logographic system of writing represents :
(A) words (B) ideas
(C) sounds (D) things

Levels of analysis are theoretically :
(A) compartmentalized and hierarchical (B) congruent and interrelated

(C) unidirectional and inclusive (D) hypothetical and experimental

The term “double articulation” is used to mean a :
(A) productive capacity of language (B) arbitrariness

(C) duality of patterning in language design (D) displacement

Syntagmatic relationship is :
(A) Substitutive relationship (B) Type-token relationship

(C) Linear relationship (D) Cooccurrence relationship

Synchronic and diachronic distinction was originally proposed by :
(A) Hermann Paul (B) Wilham Van Humboldt
(C) F.de. Saussure (D) Bloomfield

D—-3104 2
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1. Sfdsiiadr F=1 1 Ghd il € :
(A) &l qe FToaeE & 7Ed Heiy
(B) SIhl i STOHT QT | hl M
(C) T & 3TSA a0 TRl & T SifTen st =amen
(D) 9% SRV fof o=t 1 =9 Weh T e ki qegia o a1l & & &

2. ﬂFﬂﬁTW—fTﬁfﬁ%:

(A) TIT Td GERd % Sfied 1 ereaad

(B) 3IUAIBISAT i ST H |19 1 HEd

(C) WiGHdh HeRR o Heit H I 1 STEHIT

(D) Sifac & wroi-fomm oy fomt o deiy § Wi o1 sTea
3. W= o oraa ol frgen wfaffac st ® -

(A) =Sl H (B) To=mi =

(C) TH & (D) @i @t

4. fowrwor o R Haif<ae 9 | T ©
(A) ISR ad Afwis (B) HaHH AU WER Haifed
(C) T fauita qen sAfufafed (D) TqHG a1 YRR

5. fes=mo (@ smeigervm) & i =t &t qe= & far foan S & -
(A) T hi SIS &A (B) ATgf=zehdl
(C) oToRR Tuiehd | sfi=d w1 fg@ (D) faemm

6. To=me sHHIcHS Gy ©

(A) it T (B) WEU-Zh T
(C) ATHHF T (D) FeHfd TRy

7.  UhehlicToh Td ShIcThiHeh A4S Hord: =1 gr yeaifaa foan T o
(A) T U (B) foreen aM gHllee
(C) TH. T HrER (D) =AHTS
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8.  Parts of speech classification is based on :

(A) national criteria (B) morpho-syntactic features
(C) morphological changes (D) word-paradigm approach
9. In the sentence ‘Radha took the letter from the postman’, the word ‘from’
indicates :
(A) Accusative case (B) Dative case
(C) Ablative case (D) Locative case

10. Language and dialect are distinguished on the basis of :
(A) Speaker-hearer relationship (B) Mutual intellegibility
(C) Geographical proximity (D) Literary tradition

11. Inter-relationship between Phonetics and Phonology is that of :
(A) general and particular (B) equivalence and independence

(C) congruence (D) congruence and independence

12. In the production of a nasalized sound the air passes through :
(A) the nasal cavity alone
(B) the oral cavity alone
(C) sometimes the oral cavity and some times the nasal cavity
(D) both the oral and nasal cavity
13. The term supraglottal closure refers to :
(A) the closure at glottis
(B) the closures at pharynax and velum
(C
(D

) the closure above the glottis throughout the air passage.
)

the closure at the vocal chords

14. With reference to the vocal space used for producing vowels, cardinal vowels should
be seen as

(A) vowels produced by all human beings
B) basic vowels found in all languages
standard and arbitrary cut off points

)
D) non-arbitrary cut off points

D—-3104 4



10.

11.

12.

13.

14.

I8 S HT IR TH W ST €
(A)  AYIETHE AFRTS (B) ®Y-arerITcHe oIy wraron
(C) S UHE TREdAl (D) SI=-®rerc! ety

‘Radha took the letter from the postman’, 9 Isq T “from’ Isg Y Tohd BT © :
(A) FH FH (B) THIH %Rk
(C) STUIEH R (D)  SATIHTU HRh

I e siielt bl 7 o of1uR o fadifed foman S @

(A) SIBI- Al T (B) ORI SrerTeIdl
(C)  iiiferes fehean (D) Gifefers T
- foqM qen HE-UH S ER Hey e S g

(A) HER SR favm (B) Joadl SR T
(C) GG (D) ag9ar iR TEdw=

Teh SIS Fd Lo I HiA W, 1Y T 3T BTk ol © :
(A) hael e faer

(B) <had H@ fa=X

(C) wft g@ foer |, Fft ifeemr foer @

(D) T@ e et Sl % faer |

SITaTd gRIF 3T (supra glottal closure) BRI foRgeRt Hehd BT T :
(A) A9 §R W @Y

(B) U AR HHE g W &Y

(C) oY HF & 3TREY § ookt 3T qoh AT §R T ST

(D) HEIY @R HHE@l R Y

= I IHA B 6 FTT J&0 fovy, ST arel g@ foer Tora & ey # AW @)l &l 741 €9
@fé@?ﬂ:ﬂiﬂf\g‘lz

(A) T8 W S GH& |6 WoET gRT S=id 2 €

(B) EHE WIS T IucTd HAYd TR

(C) ek T Argfeeeh fadiah fog

(D) -ugfeas fades foag
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15. ‘Neutralization’” refers to

(A) loss of phoneme in the word - final position

(B) loss of a consonant in the medial position of a word

(C) loss of distinction between two phonemes in a particular environment
(D) the process of a sound becoming distinctive

16. A set of linguistic units are said to be in ‘free variation” if they occur :
(A) only in different environments  (B) in the same environment
(C) never in the same environment (D) in the same environment occasionally

17. An ‘empty morph” has :
(A) shape and meaning (B) no shape, no meaning
(C) shape but no meaning (D) meaning but no shape

18. The notions noun, verb and adjective are :
(A) notional categories (B) formal categories
(C) semantic categories (D) functional categories

19. Regular alternations have source in :
(A) morphologically conditioned alternations
(B) phonologically conditioned alternations
(C) morpho-phonemically conditioned alternations
(D) morphemically conditioned alternations
20. In grammatical analysis, substitution frames are used to discover :
(A) word classes (B) grammatical categories
(C) form classes (D) structure of a phrase or clause

21. By the expression parameter we mean :
(A) the common principles that all the languages of the world share
(B) the limited number of ways in which languages differ from each other
(C) the notion that enables the linguist to measure differences in terms of structure
(

D) the notion that enables the linguist to formulate rules regarding language
classification

22. Tense’ refers to :
(A) The state of action at a given moment of time
(B) “Specific time’ relation to eternal time
(C
(

) The relevance of time in the context of discourse
D) The relation between ‘time of action” and ‘time of speech’

D—-3104 6



15.

16.

17.

18.

19.

20.

21.

22.

TafefofieRtor (Neutralization) gRT Hehd Brdl ?:

(A) “word - final” fafq ¥ w&f1 s @9

(B) e WS & HEA M H Teh &S ol A9

(C) Torst wer oy fearfq # <1 TafHi & 7ed o 3= 1 o9
(D) T A o SATdSh o M ki THHAT

T SehTeAl o Ueh T ol ‘Tes foekor § el ST Wkl © AfE o wfed 21 ¥ -

(A) hee fafve deuf (B) T UH HeH #

(C) 3 Hed ¥ heft ot & (D) 91 el SHT Hed ¥
T T T H T

(A) SR TH 31 (B) 7 SN, T Y

(C) TR, W oI5 37 Tl (D) 31 TT HIE AHR &
T, T 31 fador it erRomd €

(A) Hgif<e gforat (B) =i Sforat

(C) e Sk gfort (D) SE¥ATHS AT
Frafaa aRadHt 1 @i 579 ©

(A) ¥4 Fraes dR 9 erpfaa fafha aRad
B) wfife 9k @ srqHfem A aRed

C) ToEffe 4R ¥ i Fafaa aRad
D) wufhfyd fashedd ¥ eTdfaa Fafad afterd

TeRoTeh fareero §, Uqeeme s S f o1 e e o fore e |
(A) =% = (B) AT AT
(C) aftri & fafE (D) T HaTeR 31l Teh STl hi HCEH

“IHEY - 39 fyeafed gRI edm acad €

(A) = I fagrat @ o fava &t weft wreit it et &

(B) o wifed T foit wremd weh g | foet & el §

(C) o% ¥IROM, S o Uk AT1- Sk BT ST % URued | 37 a9 #1 st e |
e §

(D) =% RO, S fo o Sefes Bt 9w it % fawe | femt B gEes v H
e ©

(
(
(

‘I (Tense) | IR g

(A) T % fore faftre qor =, e 1 i fefa B

(B) Taf¥T® ¥HA (Specific time) I IMTed HHT (eternal time) H Hai¥

(C) ho o RYET H THY shi YrETR

(D) “FRa1 & WHF (time of action) T AT k1 THY (time of speech) % HE hl Heiy
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23.

24.

25.

26.

27.

28.

29.

30.

In the sentence ‘Monica went to New York with her mother’, the preposition ‘with” is
an example of :

(A) locative case (B) dative case
(C) comitative case (D) ablative case
The sentence The oranges that John bought grapes and were sweet is

ungrammatical because it violates :
(A) The complex NP constraint
(B) The sentential subject constraint

(C) The coordinate structure constraint

(D) The upward bounded constraint

In the sentence We all went to the park, the phrase to the park is:
(A) an indirect object (B) a direct object

(C) an adjunct (D) a complement

In the sentence “they always give the awards to themselves”, the expression themselves
is an example of :

(A) an emphatic (B) areflexive
(C) a reciprocal (D) a pronoun

In the sentence ‘Manoj sent flowers to Madhavi’, the verb sent is sub categorized for :

(A) two arguments (B) one argument
(C) three arguments (D) no argument

In the sentence “John is very upset with corruption”, the noun phrase John is :

(A) an agent (B) a patient
(C) a recipient (D) an experiencer

The semantic relationship that obtains between pairs of expressions such as :
chair - furniture
dog - animal
door - room

is known as :

(A)  hyponymy (B) synonymy

(C) antonymy (D) homonymy

The expression niila kantha in Sanskrit has one of its meanings as the individual who
has a blue neck. Such expressions are :

(A) Endocentric (B)  Exocentric
(C) Denotative (D) Connotative

D—-3104 8



23.

24.

25.

26.

27.

28.

29.

30.

‘Monica went to New York with her mother’ 39 a1 H Jel&l (preposition) ‘with ' 1
1 Toh AT &

(A) RO HRH (B) HYGH HReh

(C) Hgardsh R (comitative case) (D) UM hiXeh

The oranges that John bought grapes and were sweet is ungrammatical
because it violates :

I o T STR0NT € i I8 SUsT il © :

(A) Sifedd NP gfdery (B) dTeRITcHeh T Hfdere
(C) HHFANYEHRT H=H Yider (D) el IRag dide
We all went to the park $9 99 H to the park I8 Hgal ¥

(A) Th TqTEl FH (B) T Y& wH

(©) TH fommme (D) Tk TH

“they always give the awards to themselves”, the expression themselves is an
example of :

ESEEIER U themselves 7= =1 Teh 3qIeV % :

(A) Teh 3TIYNH (B) Weh Tsiam=ieh

(C) T IRERSE (D) & Ham

“Manoj sent flowers to Madhavi”, 39 a1/ H 3631 sent 74 & farT Wﬁaﬁﬁl oo T
() = I (B) Tk I®

(C) = fwa (D) IE fb Tl

“John is very upset with corruption”, John G SIS g

(A) TH Aferdi (B) T &H fawH

(C) Tk qHeAl (D) U 9w

s1fieafeat o gt & He i vieered foveres ey faemm & S § - 959

chair - furniture
dog - animal
door - room

RTINSO
(A)  FrerHar (feaift) (B) IR (faift)
(C) foeimar (T=ifHr) (D) SEAM (i)

HicTeha St T | Teh 3tfieafd & SHa T 31 § - U = fogant et e g1 Tt
(A) 3fq: g (B) dfe: g
(C) TETdH (D) Hybred
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31.

32.

33.

34.

35.

36.

37.

38.

39.

In traditional dialectology, the methodology involved the deliberated selection of :
(A) mobile, rural, older people (B) non-mobile, older, rural males

(C) rural, non-mobile, youngmales (D) non-mobile, urban, old people
In a system of syllabic writing, each grapheme corresponds to :
(A) a morpheme (B) a phoneme

(C) a combination of a consonant and vowel (D) alexeme

The metrical rules used in poetry help to reconstruct :

(A) the quality of the vowel (B) the quality and quantity of the vowel
(C) the quantity of the vowel (D) nasalisation of the vowel

Dravidian Languages are in character :

(A) Inflectional (B) Agglutinative

(C) Synthetic (D) Analytic

Regularity of phonetic change from proto Indo European to Germanic and non Germanic
languages was observed by

(A) Karl Verner (B) Jacob Grimm
(C) Rasmus Rask (D) Grassman

The word Englaland changing to England is a case of :
(A) Syncope (B) Metathesis
(C) Assimilation (D) Haplology

is a process by which irregularities in a paradigm get obliterated :
(A) Sound change (B) Analogy
(C) Borrowing (D) Morphophonemic change

Relative chronology of sound changes means :

(A) the occurrence of more than one sound change
(B) the occurrence of only one sound change

(C) the occurrence of sound changes in the past

(D) the order in which different sound changes have occurred

In allam murabba, allam (ginger) is from Telugu and murabba (Sweet dish) is from
urdu. This kind of formation of the word is called

(A) Loan word (B) Loan Shift
(C) Loan Blend (D) Loan Translation

D—-3104 10



31.

32.

33.

34.

35.

36.

37.

38.

39.

JReafier wifient faqm H, qonel & etria fomm fomsiges f=1 1 =am afmfed @
(A)  Tifaeite, wt, SEgg SAfd (B) swIfaefied, sriigs, U gey
(C) T, srrfaeftet, o geu (D) efTTfaeiie, w&d, I =Ath

ek TEe i Rt yomedt § g oo 7 & 9t @ €
(A) TH T (B) TH T
(C) T S qA1 Th @ &I Tk AiHgm (D) hIfew

FTe § W6 IR oM 1 61 O W e | e e €

(A) EI T TOTEI (B) EoI i T[UTeI T Iehl HEAT
(C) &R sl de& (D) R &l STIANHR
ey fafu fa=i H)

(A) faufems (B) ek

(C) ETATUHR (D) fazarvomenes

3T AR (Wt Sl JUMTEA) ATneti 9 TeRt ST wroieti wa i S sroisti o 29 arel
e=TcHeh afed ki Framfed o1 f1e1 g staeiifrd foram T o -

(A) HE TR (B) Sta firg

(C) SHH U (D) UHHA

‘Englaland’ 1% 1 England # qferdq 814 w1 feafd i & @ T g
(A) wemaRa (fa=nm) (B) vl TRl (Herferdi)
(C) STHEEHR (THITHTTH) (D) THIEREAN (TS )

T UE g € N9 g0 Uw Tuarfaet (erd) # 29 ol eifafiaand sifiera @
S

(A) = g (B) €A

(C) eAferR (D) &9 Wi qfterd

T URadH! % TTiel HATHE ¥ aead ¢

(A) TH G fye @ i 1 afed g

(B) HaA Teh T ReH 1 wifed g

(C) Y@ § @ uRadHi 1 "fed 2

(D) T %u g fafis @ afteds =feq gu §

allam murabba — 394, allam (3783 - ginger) ?f@‘l@ g 3R murabba (TASE-Sweet
dish) 3¢ § T1 w8 o1 T Fofor sheetman €

(A) 3N S (Loan word) (B) 3Td &1 Ygfd (Loan Shift)

(C) 3Td fAg 8 (Loan Blend) (D) 3T 37JdE (Loan Translation
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40.

41.

42.

43.

44.

45.

46.

(1) Assertion : No language is pure in the sense that if is free from borrowings from
other languages.

(2) Assertion : Major part of the English vocabulary is borrowed from other languages.
(A) 1 and 2 are correct (B) 1 is correct
(C) 2is correct (D) 1 and 2 are false

‘Density of communication” is directly proportionate to
(A) language variation (B) linguistic homogeneity

(C) Darriers in communication (D) infrequent interaction

‘Metaphorical’ code-switching occurs when

(A) there is a change of topic

(B) the subject of discussion is literature

(C) the speaker wants to pass on a secret message
(D) there is a change in situation

Variation in language use

(A) causes social disadvantage

(B) does not cause breakdown in communication
(C) prevents linguistic evolution
(D) retards educational progress

‘Communicative competence’ refers to

(A) the speaker’s mastery over complex rules of grammar
(B) the speaker’s ability to use socially appropriate language
(C) the speaker’s special ability as communicator in society
(D) the native speaker’s tacit knowledge of his language
is the constituent unit of the vocabulary of a language :
(A) A morphemic unit (B) A lexical unit
(©) A morphophonemic unit (D) A grammatical unit

‘Vernacular’ in Labov’s model of sociolinguistics refers to

(A) a dialect which is sub-standard

(B) a regional standard variety

(C) the least self-conscious style of speech

(D) the speech which is consciously monitored

D—-3104 12



40.

41.

42.

43.

44.

45.

46.

1. 3fyepe : I off T 39 Y & fagrs T2 § Hifw =g o= wrwiedt & st ¥ 4 )
2. Afehe ; SIS % VIeg TUE 1 STfehiel A 31 riedt ¥ eiferrdia fmen ¥

(A) 1R2%E T (B) 1%

(C) 28T (D) 1323\ §

‘IR AT (Density of communication) Jed&l 3R 5T FETIIIf ¢
(A) T FUROT (B) WIS HISTeA

(C) HHEU H TRy (D) for@ s=a=afHa

AT re-ufadd Tfed gl § Safd :
(A) “afs fawa § & qRedq st se. (B)  forem-fomet =1 fawar wife &
(C) BT IS TH T-<¥ <A1 =redl & (D) ufkfefa & 18 afteds &

A & FAN H TR0 9§ |
(A) gmifSie gfaege 1 fifeafs wRrfor 2t &
(B) EEITU H G <l HRUT Tl Ial &
(C)  TT9TTA HHTIHM T RIS Hia &
(D) feren eIl T 3% LT &

RS YU g Eehd fHeraT © -

(A) AR o Sffeet T T =Bl st oo

(B) WIS Y H IUGH 0T T AN hid H BT ot A0l
(C) HS ¥ THEeH o €9 H b1 i fafdm Fmean

(D) <RI -9 k1 i STqAT ST ot ffed 99

et T o e WU 1 HESH THIT §

(A) T TTH THhE (B) e hISNTd Theh

(C) T TUEHHe Teheh (D) Ueh AUk Teheh

AErE’ o FES 9T foRE % o § Cwegdh e (Vernacular) ?:
(A) T U dleft ST STaHMS

(B) U &>y Ak fafaer

(C) oo et # Halfesh =Fad s

(D) T TH 999 St o F=iae €9 9 STgam fohan 7 §
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47. Which of the following is NOT an ‘aid” for language teaching :
(A) Language laboratory (B) Flash cards
(©) Syllabus (D) Language games

48. Which of the following is true ? :

(A) code-switching is inter-sentential while code-mixing is intra-sentential
(B) code-switching and code-mixing are both inter-sentential
(C
(D

) code-switching and code-mixing are both intra-sentential

) code-switching and code-mixing refer to the same phenomenon

49. In second language acquisition, Selinker’s concept of ‘Fossilization” refers to :
(A) inadequate competence of adult learners in formal settings

B) the loss of plasticity in the human brain

tendency of the learner to use old and archaic TL forms

structures that deviate from the TL and have become a part of the learner’s
competence

50. Language ‘convergence’
(A) is prevented by wide-spread bilingualism
B) is restricted to languages of the same family
affects only the phonology and syntax of the languages in contact

can result from a long history of bilingualism
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47.

48.

49.

50.
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51 4 9 g o & W fon T f¥eron ot Uk W (Te-aid) T

(
(

A)
©)

TS TR (B) TR FISH
qreafeerul (D) et 3!5[31'@' (Language games)

7 4 9 3 o 9 9§72
(A) HIE-TRERE SIAET (intra-sentential) ¥ Sifeh hre-fHgu sidamria €

(
(
(

B)
Q)
D)

FHre-uRady qen e g SH sidue &
e YREdT q1 i g M sidereia &
Fig gRed adn Fie fagu <A1 U & w2 BH IR HWohd A ©

fadta e stfenrewr #, Sferaht i ST Hehoq T “STOHIIRI (Fossilization) 1 § - SHY

Sita=iien ararervn | Ui ferenfe ot oToate e

e AieTsh § GUTRIT 1 A4

QU N ST9=ferd TL €91 ol TANT A st fremeff o6t ggfa

ST @ “TL” § ST99RA (deviate) T ¥ TR foreneff w1 arwam w1 s W §

g1k esrd :

w1 freRt saTaes fgiftar gRT 2ran ©

4t afeaR T et qek 2 gfdefea wdt §

ek § @A Al WISt o @i Hiaae a1 s foqe A g st §
feanfoan & ot 3fdera % afomy ey & Tadt ©
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